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SECTION A

1) Which of the following is found in solid state at room temperature?

    (a) Stone

(b) Sand

(c) Mercury

(d) Both a and b
2) Gases show faster rate of diffusion because
    (a) Of higher boiling point

(b) Of low intermolecular space
    (c) Of high melting point


(d) Of larger intermolecular space
3) Temperature 200o C equals nearly to 
    (a) 300 K

(b) 373 K

(c) 473 K

(d) -73 K
4) During summer, water kept in an earthen pot becomes cool because of the phenomenon of
    (a) Difffusion
(b) Transpiration
(c) Osmosis

(d) Evaporation
5) Which of the following will not show Tyndall effect?
    (a) Smoke

(b) Foam

(c) Jelly

(d) Salt solution
6) Two substances, A and B were made to react to form a third substance, A2B according to the following reaction 2A + B ( A2B. Which of the following statements concerning this reaction are incorrect?
    (i) The product A2B shows the properties of substances A and B

    (ii) The product will always have a fixed composition
    (iii) The product so formed cannot be classified as a compound
    (iv) The product so formed is an element
     (a) (i),(ii) and (iii)  (b) (ii),(iii) and (iv)  (c) (i),(iii) and (iv)  (d) (i),(ii) and (iv)
7) Which of the following  are physical changes?

    (i) Melting of iron metal



(ii) Rusting of iron

    (iii) Bending of an iron rod


(iv) Drawing a wire of iron metal

    (a) (i),(ii) and (iii)  p(b) (i),(ii) and (iv)  (c) (i),(iii) and (iv)  (d) (ii),(iii) and (iv)
8) The term ‘protoplasm’ was coined by
    (a) Purkinje

(b) Robert Hooke

(c) Virchow

(d) Robert Brown
9) The flexibility of plasma membrane can be contributed to the presence of
    (a) Proteins

(b) Lipids


(c) Nucleic acids
(d) Both a and b
10) Organelle other than nucleus, containing DNA is
    (a) endoplasmic reticulum



(b) golgi apparatus
    (c) mitochondria




(d) lysosome
11) Flexibility in plants is due to
    (a) collenchymas
(b) sclerenchyma

(c)  parenchyma
(d) chlorenchyma
12) A long tree has several branches. The tissue that helps in the sideways conduction of water in the branches is
     (a) collenchymas
(b) xylem parenchyma
(c) parenchyma
(d) xylem vessels
13) A particle is moving in a circular path of radius r. The displacement after half a circle would be 
     (a) zero

(b) πr



(c) 2r


(d) 2πr
14) If velocity of an object decreases with time, then it is called
     (a) retardation
(b) deceleration

   (c) negative acceleration   (d) all of these
15) The inertia of an object tends to cause the object
(a) to increase its speed



(b) to decrease its speed
(c) to resist any change in its state of motion    
(d) to decelerate due  to friction
16) The value of quantity G in the law of gravitation
       (a) depends on mass of the earth only


(b) depends on radius of earth only
      (c) depends on both mass and radius of the earth
(d) is independent of mass and radius of the earth
Question No. 17 to 20 consist of two statement – Assertion(A) and reason(R). Answer these questions with the appropriate option given below:

     (a) Both A and R are true, and R is the correct explanation of A.

    (b) Both A and R are true, and R is not the correct explanation of A.

    (c) A is true but R is false

    (d) A is false but R is true
17) Assertion A solution of table salt in a glass of water is homogenous
Reason A solution having different composition throughout is homogenous
18) Assertion Mitochondria are known as powerhouse of the cell
Reason These generate energy(as ATP) for various cellular activities
19) Assertion At the centre of earth, a body has no centre of gravity.

Reason This is because, g=0 at the centre of earth.

20) Assertion The square of the period of revolution of a planet is proportional to the cube of its mean distance from sun.

Reason Sun’s gravitational field is directly proportional to the square of its mean 
distance from the planet
SECTION B

21) Give the difference between mixture and compound.
22) Which organelle is known as the powerhouse of the cell? Why?
23) Give the differences between tendon and ligament.
24) Diffrentiate between axon and dendrite.
25) Explain why is it difficult for a fireman to hold a hose-pipe, which ejects large amount of water with a high velocity.

26) State Kepler’s first law of planetary motion?

SECTION C

27) A sponge can be compressed, yet it is a solid. Explain.
28) 110 g of salt is present in 550 g of solution. Calculate the mass percentage of the solution.
29) State three differences between plasma membrane and cell wall.
30) Why lysosomes are known as ‘scavengers of the cell’?
31) Distinguish between speed and velocity.
32) On what factors do the following physical quantities depend?
(i) Inertia        (ii) Momentum        (iii) Force

33) Find the gravitational force between earth and an object of 2kg mass placed on its surface.(given mass of the earth=6x1024 kg and radius of the earth=6.4x106)
SECTION D

34) Two objects of masses 100g and 200g are moving along the same line and direction with velocities of 2m/s and 1m/s,respectively. They collide and after collision, the first object moves at a velocity of 1.67 m/s. Determine the velocity of the second object.
35) Explain main functional regions of a cell with the help of a diagram.
36) With the help of a labelled diagram describe an activity to show that particles of matter are very small.
SECTION E

37) Abhinav tested the solubility of four different salts i.e. Potassium nitrate, sodium chloride. Potassium chloride and ammonium chloride at different temperature. He took four beakens and marked as (I) Potassium nitrate, (II) Sodium chloride, (III) Potassium chloride, (IV) Ammonium chloride and then he dissolved each salt in 100 g of water and placed a thermometer in it. Heat the contents of the beaker and recored the following observations.
	Substance Dissolved
	Temperature (in K)

	
	283      293     313     333     353

	
	Solubility

	Potassium nitrate

Sodium chloride

Potassium chloride

Ammonium chloride
	21       32        62       106       167 

36       36        36        37          37       

35       35        40        46         54

24       37        41        55         66


 (i) Solubility of which substance is highest at 283K?

(a) I     

(b) II    
 (c) III    

(d) IV

(ii) Which substance show maximum change in its solubility, when the temperature is raised from 313 K to 333 K.
(a) I     

(b) II     
(c) III    

(d) IV

(iii) Find the solubility of Potassium chloride at 293K?
(iv) What is the effect of temperature on the solubility of a salt?
38) Shikhaj and Sharman went to Mathura through Yamuna - Expressway. Shikhaj started the car and accelerated, so highly that the car was running at 108 km/h within 10 s. Sharman kept a track on the speedometer and stopped him from doing so and told him that overspeeding on road was a straight invitation to life staking situation though, Shikhaj wanted the adventure of speeding but he was convinced by Sharman.
(i) Why sharman kept a track on the speedometer?
(ii) The numerical ratio of average velocity to average speed of an object when it is moving along a straight path is 
(a) 2:1     
(b) 1:2    
(c) 1:1   

(d) 4:1

(iii) What is the accleration of the car?
(iv) What advice is given by sharman to shikhaj regarding overspeeding on road?
39) Plants have a transport system to move things around the xylem moves water and solutes from roots to leaves through transpiration. The phloem moves glucose and amino acids from the leaves to ends of the plant through translocation. In modern plants, the xylem and phloem are arranged in groups called vascular bundles. The xylem is constituted by 4 elements, i.e. tracheids, vessels, parenchyma and fibres while phloem is constituted by sieve tubes, companion cells, phloem fibres and parenchyama.
(i) Why are xylem and phloem classified as complex permanent tissues?
(ii) All phloem cells are living with one exception. Which component is this exception?
(iii) What is the function of companion cells of phloem tissue?
(iv) What is the advantage of presence of vascular bundles in higher plants?
(i) This question paper consists of 39 questions in 5 sections.


(ii) All questions are compulsory. (iii) Section A consists of 20 objective type questions carrying 1 mark each.


(iv) Section B consists of 6 Very Short questions carrying 02 marks each. Answers to these questions should be in the range of 30 to 50 words.


(v) Section C consists of 7 Short Answer type questions carrying 03 marks each. Answers to these questions should be in the range of 50 to 80 words


(vi) Section D consists of 3 Long Answer type questions carrying 05 marks each. Answers to these questions should be in the range of 80 to 120 words.


(vii) Section E consists of 3 source-based/case-based units of assessment of 04 marks each with sub-parts











